
1. CC- 1065 is

(A) An Analgesic

~ An Antibiotic

(B) An Anaesthetic

(D) An Antiseptic

CC-1065 6f"",u@jI

10.0- 12.0(B)

In "nmr", the' 8' value for R-CHO will be (for an aldehyde proton)

~ 9.0-10.0

2.

(C). 2.1- 2.4 (D) 2.4 -2.6

•
(A) 9.0 - 10.0

(C) 2.1- 2.4

(B) 10.0- 12.0

(D) 2.4 - 2.6

3. The "J (Hz)" in NMR for an ortho isomer of benzene system will be

~ 6to9 (B) 9.5 to 4

(C) 0 to 0.2 (D) 0 to 0.5

(A) 6 - 9

(C) 0-0.2

(B) 0.5 - 4

(D) 0-0.5

3 DJCHI19
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4. Which among the followingcorresponds to an 'Ester'?

(A) 1710~ 1780 cm-1 .

(C) 1690-1740cm-1

(B) 1680- 1750cm-i

~. 1735-1750cm-i

•

(A) 1710 - 1780cm-1

(C) 1690 - 1740em-i.

5. In NMR, TMS proton value is <5-scale is

~o

(C) 8

•

(B) 1680 - 1750cm-1

(D) 1735 - 1750cm-i

(B)' 4

(D) 10

•
(A) 0

(C) 8

DJCH/19 4

(B) 4

(D) 10
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6. The compound

(A) Antibiotic

(C) Antiseptics

rC:)Y OCOCH3

~COOH
is an

..L Analgesic.'

(D) Disinfectant

@X..OCOCH3G""TlDlD 0. -6fmui91
COOH

(A) 6f~ir ,,-uSlITI

7. Which one is an antiseptics?

(A) Cyclopropane

(C) Nitrous oxide

~ Thymal

(D) Thio pental sodium

5 DJCH/19
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•

8.. Drugs which relieve pain by acting on the central nervous system and reduce pain wit!lOut

loss of consciousness are called

(A)

(C)

anti inflammatory drugs

antibiotics

(B) anaesthetics

~ analgesics

9.

LDibibltu )!i~LbLJ LD••••.LQ)~iblou Q8'lUoUUL(!), )£Immm<;>i .@\Jl6;B;ITLDoU GUGl5ImlU6; @jm!D6;@jLb LD~)i;~B;6fr

.,-m ~m\Jl8;B;uuG1ltlm!!J"'.

(A) ro8;B;ibm~8;B;L(!)uuG1ib~Lb (B) lL<Ol'TITGUB;iDW1B;6fr

(C) !9i••••.@lIuSlIT .,- ibllflB;6fr (D) GUGl5I)£IGUITIJ...fI B;6fr

In the Rideal-Walker method of standardisation of antiseptics, ------ culture is

used.

(A)

~

E.coli

B.typhosus .

(B) S.aureus

(D) M.leprae

rr"tlU ou - GUIT8;B;IT CY'm!D uSlou .. Itl ~ L61 )!iIT61Qf\B;Q1 orrib ~ ~u U G'ib~ LbC:U IT~

U lUmu (!)ibp;u u(!)Itl!!J~?

DJCH/19 6

(B) .,-w. ~lfllUoU

(D) .,-Lb. QQ)uC:~
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10. According to the USEPR theory the total number of -' -- -- around the central atom

determines the geometry of the molecule.

(A) Bonded pair of electrons only

(B) Lone pair of electrons only'

$ Bonded as well as lone pair of electrons

(D) Non bonded and lone pair of electrons

. '~

USEPR QIWmrnlJiuS1rnu"t (lP6\J8;8<l.!D1rn.GU"tGULb, ~WJ6lS1GiJ ~mm Ql1llTitib

QUITWitibi91.

(A) . t5\rn_ulj emlT"t mll8;L~lTrnlJim l1lL(!j\Lb

(B) ib~ ,"Q)8;L~lTrnlJim l1lL(!j\Lb

(C) t5\rn.mulj l1lJDWLbib~ ,"Q)8;L~lTrnlJim

(D) t5\rn.mut5\GiJ CF(!j\ULlTib,"Q)8;L~lTrn l1lJDWLbib~ ,"Q)8;L~lTrnlJim

------1BU

11. Which of the following has the least electron affinity?

(A)F
(C) N

.(B) 0
~Ne

(A) F

(C) N

(B) .0

(D) Ne

12. Among the sodium halides, the NAF has the highest melting point because it is

(A) Minimum ionic character . ~ Maximum ionic character

(C) Highest Oxidising power (D) Lowest valency

(A)

7 DJCH/19
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13. Find out the missing element in the preparation ofBoron

(A)

Vtt!r
Na

mg

(B) Ca

(D) K

(A) Na

(C) mg

14. Pyro silicate ion is

(B) Ca

(D) K

(A)

(C)

S'O 2-
1 2'

SiO;-

(B) SiO;-

~Si2072-

-
(A) SiO?-

(C) Si032-

DJCHI19 8

(D) Si2072-

Previous Year Question Paper GPAT Drug Inspector Pharmacist DCO visit https://thepharmapedia.com/

Study Material Job notification visit https://thepharmapedia.com/

The
Pha

rm
ap

ed
ia



15. Name the element from the given electronic configuration

[Ar]4S2 3d'

(A) Titani um (Ti)

(C) Calcium (Ca)

~ Scandium (Sc)

(D)' Sodium (Na)

-
[Ar]4S' 3d'

(C) B;ITGUifhutD (Ca)

/

. 16. Hydrolysis of Borazine gives

(A)

(C)

(A)

(C)

9

. (D) GIfIT"tllJtD (Na)

~ B(OH)3

(D) B3N3HgCl3

(B) B(OH)3

DJCHI19
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17. The most electronegative elements have electronic configuration

. (A) ns2np3

...,t" ns2np5

(A)

(C)

ns2np3

ns2np5 (D) ns2np6

18. According to Mulliken's scale, electro negativity is the average of ionisation potential and

(A) ionic radius "'" electron affinity

(C) effective nuclear charge (D) bond energy

CY'.u61Sl6;,s6O\l"" <!'JI<;IT6l'i L.G\ CY''''!D u51""u"l- .,- 6\)6;L.~IT"" ,sou IT15"" ~ UllU IT6>Ti91. <!'JIlU6O\llUIT8;@iLD c!'l!>W!D 6U UlW IDJLD

"" 1f~ITIfITllUlT@itD.

(A) <&IlU6O\l c!'l!>~tD

(C) <!'JIWJ6;,sQ!i6lSl"" 8'~IT6>TuSI"",s..,Ul

(B) "-6\)6;L.~IT"" )!i1TL.LtD

(D) L9"'_~Lj c!'l!>W!D6U

19. The compound formed by the Sp3d hybridisation will have the structure

(A)

~

Tetrahedral

Trigonal bipyramidal

(B)

(D)
Pyramidal

Square pyramidal

(B) L9~uSlL6U

DJCHI19 10
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20. Arrange the following free radicals in the order of their stability

1. 3° alkyl radical,

II. 2° alkyl radical,

III. 1° alkyl radical,

.
IV. CHs

~) I>II>III>IV (B) IV>III>II>I

(C) III> IV> II >1 (D) III>IV>I>II

'" 0 !;.
21. R CHz CHz NMe30H ) ?

Hoffman Elimination

(A) CHz ~CHz (B) MesOH

J R CH~CHz (D) CzHz
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..

22. t-butyl carbonium ion is stabilised by

~ nine hyperconjugation structures

(C) three hyperconjugation structures

(B) six hyperconjugation structures

(D) no hyperconjugation structures

t -tSl \h!>L'" UU IliITn-GU IT6mllU Li:>~ lU 6ml u51~ iBI'" 6\l U '-I~ iii ~.., lil.., lU iBI'" 6\lU (!)~~ 6lJ ~

(A) ~~u~ 2..._n- '-I-n- GlSl..,GTT£lj ~"'lilU'-lIliGTTITGiJ

(B) ~ 2..._n- '-I-n- GlSl..,GTTGlj~"'l{lU'-IIliGTTITGiJ

(C) (I!l~i!)J 2..._n- '-I-n- GlSl..,GTTGlj ~.., lil U '-IIliGTTITGiJ

(D) 2...lUn- 2..._n- '-I-n- GlSl..,GTTGlj .@GiJ6\lITiiiiiiITGiJ

23. Which is a poor micleophile?

~ NH3 e (B) OH

(C) CH3CH2NH (D) .£j
CH3Q:

(A)

(C)
(B)
(D)

OH

24. Low energy HOMO hard nucleophile is -----

J>. MeLi
e

(C) I

(A)

(C)

DJCH/19 12
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25. Which among the followingis the least electron attracting, "-I effect group'?

(A) Br

(C) OH

(A) Br

(C) OH

(B) 2-butene

(D) ethane and propene(C) n-butane

26. When 2-bromobutane is heated with alcoholic KOH, which is a minor product among the

following?

.rJIt I-butene

2-~G~rrGLDrtt5l\l,j,LGU"l6llT. <!!)!,roMrraSl8; KOH OLUilT @5@ u@ibi9JLbGurri9J. u\l8i8;@)""'!J)!>!b <!9Iffi6lSlro

. $I....,L8;@)Lb 6lSl....,6llT6lSl""'ffiQ u rr(IT)w

(A) I-t5l\l,j,L"'-GM

(C) n-t5l\!,J,LGLGM

(B) 2-t5l\!,J,L"'-GM

(D) rr.ib~GM LD!DWLb~G~rrMGM

(D) Both (A)and (C)

((B)

Resonance hybrid is represented by -----arrow (s).
)

27.

(A) (B) "
)

(C) ~

13 DJCH/19
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28. First free radical detected was -----.

.
(E) CHs

(C) DPPH (D) H

.
(A) Phs C

(C) DPPH

.
(E) CHs

.
(D) H

29. What happens when 1,2.dibromoethane is heated with Zn?

~ ethylene is formed

(C) ethyne is formed

(E) ethane is formed

(D) an organo zinc compound is formed

(E) FF~Gib.m lL(IljQJIT.$lJDi91

(D) til(llj i9J~ib)!iITa; a;rfllnuQUIT(Ilj.n- lL(IljQJIT.$lJDi91

. 30. It is very difficult to esterify the 2,6.dimethyl benzoic acid, due to -- _

~) ortho effect . (E) corrosive nature

. (C) its instability (D) explosive nature

DJCHI19 14

(E) ~rfluy~ ib.mGIDl1)

(D) QQJLq.8;@;LD ~UITUJLD
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31. Name the Fertilizer 3 CaH. (PO.)2

(A)

(C)
Calcium diphosphate

Calcium hydrogen phosphate

(B) Calcium Phosphate

.fJIf Triple super phosphate

(A) dilTruahuu:> 66lLUlToiuGUL

(C)dilTruahuu:> 66l~L~!£6M UlToiuGUL

(B) dilTruahuu:> UlToiuGUL

(D) (lPU:>66lLD@;UUIT UlToiuGUL

. 32. Which of the following compounds has the highest dipole moment value in vapour phase?

(A) .HI

..$ HF

(B) HBr

(D) HCI

S;\il8;di6liML GIfITLDfuJdi\5.IT '"!iiI" GIfITLDU:>qo,;l5I ~66lQ)l6lru ~i51di ~@(lP66l6llT1lJ i51@ULj66lLD LDi5IU66lUU

Quti>!D1@8;@)U:>?

(A) HI

(C) HF

(B) HBr

(D) HCI

33. The molar volume of a liquid at a temperature so that its surface tension is unity is known

as

(A)

(C)
molecular mass

viscosity (D)
parachor

density

~@ i51~6U::l;i516Mu~ULj ~@ol5I66l1f ~IT ~Q).$ITdi ~@8;@)U:> GUlTi!jI. ~@ @)!D1UtSlLL Q6UUU~66lQ)l6lru

~::l;i51 ~6U:$i516MGLDITQ)ITITdi6llT~ orrol5lti>@)UQ U 1lJIT

(A) (lPQ)8;""-1llI~66l!D

(C) UIT@)~66lQ)

15

(B) UIT~IT8;adilTlT

(D) ~LIT:$i51

DJCH/19
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34. What is the unit of dipole moment in SI system?

(A) Debye (D)

~ Coulomb metres (em)

. (B) esu.cm

(D) Coulomb (C)

(A) . "l-""u (D)

.(C) ",,-~tb LDLLlTa;Gir (em)

(B) esu.cm

(D) ",,-~tb (C)

35.
In the following expression MyI/4. - Me ~ [p] proposed by Sugden, 'r' refers to

D-d .

(A) Parachor

(C) Frequency

(B)~Density

~ Surface tension

(A) UlTl)'lT8;Ga;lTir

(C) &I::51irQ6\J...,..

(B) &ILir~::51

36. Which of the following is an example for a gel?

(A) Mil~ ~ Butter

(C) Ink (D) Paint

(A) UlTGiJ

(C) ""lJ)

.DJCH/19 16

(B) Q6\J...,.Q_tiJ

(D) 6\J";",,,,,,uldolf'"
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37. Which of the following compound has the highest dipole moment value?

"J; cis-dichloroethylene

(C) Methane

(B) p:dichlorobenzene,

(D) Boron trifluoride

(A)

(C)

38. Arrange the following isomers of dichloro benzene increasing order of dipole moment values

, '

.'
,$\9 8;lfOOL 60l Llf G @TrrG ~rrQ u Girr6Girr 1BG/fITlD r'rIf6Ol@T ,@@(LP6Ol61lTW l51@u Lj 60lLD LDI51U Lj If mlGirr. <8>I"l-u U 60l LUSI cil

"llJ)l6UITI6Ol/fuSlcil 6UITI6MUU(b1:i;i9IIf 0 - C6H4Clz, p - C6H4Cl" ~ - C6H4Clz, '

.
(D) m - C6H4Clz < 0 - C6H4Cl, < p - C6H4Cl,

17

I

DJCH/19
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.$ \9 8;," ';""U;U !D@!D GUIT(i9!5i9! '"

(y'GlJ8;/lft iPI @(i9(ip@6l5TUJ i5I (i9 U Y@lJ) lJ)i5I U Y

(a) H2O 1. OD

(b) CO2 2. 1.63 D

(e) 802 3. 1.47 D

(d) NH3 4. 1.85 D

(a) (b) (e) (d)

(A) 2 3 4 1

(B) 1 3 4 2

(e) 4 1 2 .3

(D) 3 4 1 2

DJCHI19 18
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.040. The letter ----- is used to indicate that the dy,! is fast to light:

(A) D

~F

(B) S

(D) A

(A)

(C)

D

F

(B) S

(D) A

41.. The generalformula of monosaccharides is CnH2nOn, where n is

(A)

(C)

<2

11 - 15

~ 2-'.10

(D) > 15

(A) < 2

(C) 11 - 15

(B) 2 - 10

(D) > 15

42. Oxidation of glucose using mild oxidising agents like bromine water gives

(A) saccharic acid

.IjIIr gluconic acid

(B) glucoric acid

(D) aldaric acid

Li G ~ ITu5I6irr ~ IT G U IT6irrlD Q 11l6irr." 11l1UITffi qj,ffiGfl51 ~G61lTrD Jl5I Q ffiIT.m@ . qj,ffiGfl51lll G61lTrDlDill Li IT!"-I ill G U ITi9I

@i\5ffiGffiITW QffiIT@UU@I

. t:.

(A)

(C)
"

19 DJCH/19
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43. The carbohydrate present in the milk of all animals is

(A) sucrose (B) maltose

(G) glucose ~ lactose

~ Gil 61IT~i9J 6>516\l,,"@)IEGlflrn u[wI) ciJ ~ Qfj8;IE8;Il<l."f. tLJ IEITirG uITQIT~ L G ~L

(A) IE8;G~ITQu (B) IllITciJGLITQu

(G) @)~8;GIEITQu (D)' 6\lIT8;GLITQu

44. The most widely used catalyst for alkylation of benzene ring is

(A), HF (B) BF3

(G) FeGI, .vi/! AlGb

Qu rnSQIT61IT ~ ciJGilIEG6\l JD!DLb Q",iJ tLJ u5l IE ~~IEIllIT IE "-U GtLJ ITlEU u (iji~::5u u (iji Lb 6>5IQIT61IT\!,j,8;.$I

(A) HF tB) BF3.

(G) Feeb (D) AlGb

'.

45 . In Friedel-Grafts reaction ---~-gives predominantly the meta - product.

..A
(G)

AlGb

FeGI,

(B) BF3

(D) ZnGb,l

(A) AlGb

(G) FeGI,

U rTLciJ-.$I ~ITU LQu 6>5IQIT61ITu5IciJ ------ ~~IE ~ m6>51 ciJ Q III LLIT -6>5IQITm QU ITQfjQITm ~ ::5Qfj.$l!Di9J.

(B) . BF3

(D) ZnGb

.DJCHI19 20
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46. On Increasing the concentration of the reactants, the rate ofa reaction
vIf!,.) Increases ' (TIl decreases
(C) remains unaltered (D) first decreases and then increases

9 (19 6lSl6'l6OTu5I6irr GQJ iJ; III rr60T191. ~ i!' 6irr 6lSl6'l 60TU(9 Q u rr(19GTfI6irrGill rr8m ITQ if rDi6'l QJ ~ ~ a;U u (9:'!; iijILDG u rriijI ,

(A) ~~a;rfl8;@)ui (B) @)6'l!DlLILD '

(C) III rr!Drrlll6D .@(I98;@)LD (D) (Yli!'6l5I6D @)6'l!D<LjLDLSl6irrLj ~:5I a; rfl8;@)LD'

47. Which of the following statem~nt is true in respect of order of a reaction?
(A) It is always a whole number
(B) It is always a fraction

~ 'It may be zero, a whole number or a fraction
(D) It can never be a fraction

LSl6irrQJ(19LD""w rDi6DGriijI 9(19 6lSl6'l 60Tu516irr U"l- 6'llU U u W rDilU "- 6lirr6'lllllU rr60T""W iPI?

(A) .@iijI GruQurr@iijlLD (Yl@ Gr6lirr

(B) .@iijI GruQurr@iijlLD LSl6irr6OTLD

(C) .@iijI id>1BlU III rra;GQJ rr, (LP@Gr6lirr."ma;GQJ rr, LSl6irr60TIII rra;G QJ rr '@ci8;a;@rrLD

(D) .@iijI 9iij1 GurriijlLD LSl6irr6OTUlrra;iijI

48., Arrhenius equation at a' given temperature IS given as
activation).

(A) 10 K ~ Eo (B) 10 K ~ _ Eo
g 2.303RT g 2.303RT

Ed ..A . -Eo
(C) 10gK ~ +logA logK ~ '+ logA

. 2.303RT 2.303RT.

9(19 @)rDiULSlLL QQJuu}f16'l@u5I6D, ~IT~.-oTIlUroiu iflll6irrurr(9 (Ea -.$ImITg)pLL .qf,!D!D6D)

(A) 10 K ~ Eo (B) 10 K ~ _ Eo
g 2.303RT g 2.303RT

(Ea -Energy of•

. (C) . EologK ~ ---+ logA
2.303RT

21

(D) -EologK ~ '+ logA
2.303RT

, DJCHI19
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49. Single electrode potential becomes equal to standard electrode potential if the

(A) Concentration of ions is 1 M

~ Concentration of ions is 1 M and T '" 298 K

(C) T =.298 K (Temperature = 298 K)

(D) Concentration of ions is 1 M and T = 0 K

9' 6J6"01!Du51<iM(Lp6"0100 c'lI (ll'~!b Lb, ~ LL u51<iM(Lp6"01601c'lI (ll'~!b~ 6J@) "LD LDITIf @C!9Iii ~ Lb•.GrU G U ITG !b6"O\l6iJ,

(C) G6lJuu,!5I6"016\) (T) = 298 K

50. If an electro chemical cell reaction has avalue of K as 1.585 x 1037 The reaction is

(A) not feasible

'II't feasible

(C) in equilibrium, but not feasible , .

(D) Dccuring very slowly/infinitesimally slowly

DJCH/19 22
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51. In the given equilibrium, the value 'of 'K' according to Ostwald's dilution law is

AB ='....••••==••••••...==o.. A + + B-
C(l - a ) C a Ca.

(A)

(C)

K ~C(I-a)fCa

.K ~C(I-a)/C2a2

eB)

~,

K ~c:a/C(l-a)

K ~ Ca2/(1- a)

AB =....••••==.----==: A + + W
C(l-a) Ca Ca

(A)

(C)

K ~C(l- a)/Ca

K ~C(l- a)/C2a2

(B) K ~Ca/C(l-a)

(D) K ~Ca2/(I-a)

52. Maleic acid KMnO,)
,.

~ Meso tartaric acid

(B) (:1:) tartaric acid

. (C) (+) tartaric acid

(D) (-) tartaric acid

KMnO,

(A) u'lCIFIT LITfrLIT!Tl/i; ~uSl6\JLD .

(B) (:1:) LITfrLITrf1/i; ~uSl6\JLD .

(C) (+) LITfrLITrf1/i; ~ uSl6\JLD

(D) (-) LITfrLITrf1/i; ~uSl6\JLD

23 DJCH/19
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53. Under adiabatic condition, First Law of thermodynamics becomes

(A)

(C)

",U = dq-w

",U = dq

(B) ",U = dq + w

A ",U=:!:w

(A)

(C) . ",U = dq

"

(B) "'U=dq+w

(D) ",U=:!:w
.,

"

54. Bragg's equation for 2nd order reflection is given as. . ,

(A)' A = 2dsinB (B) A=4dsinB

~)
-

A = dsinB (D) A = dsinB
2

(A)

(C)

A = 2dsinB

A = dsinB

(B) A = 4dsinB

(D) 'A=dsinB
2

55. The unit for Y in Van der Waals equation is

(A), atm litre2 mol-2,

~ m3mol-!

•

(B) m-3 mol-!

(D) atm-! litre2 moF
,.

(A)

(C)

DJCH/19

atm litre2 molc2

m3 mol-!
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(B) m-3 mol-!

(D) . atm-! litre2 moF
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56. The number of atoms per unit cell in simple cubic, face centred cubic and body centred cubic
are

..A 1,4,2 (B) 4, J, 2

(C) 2,4, 1 (D) 4, 8, 2
•

",roIlLJ 8>6OTlfi91~LD,. (lP8>UY""LILJ 8>6OT"i91~LD LDJDWLD QU~(f1jGfr ""LD"J a;6OTlfi91~~!!iI6D ~GiJQGlJ~(f1j ~6\J@)';;

""- L ,,!-1LJ "-. Gfr6TT~ Wi.;;a; roI6'or <Or6o'or~.;; GOTa;

(A)
(C)

1, 4, 2

2,4, 1

(B) 4. J, 2

. (D) 4,8,2

57. The type of structure yxhibited by KGI is

(A) face centred cubic

(G) body centred tetragonal

(B) body centred cubic

.A simple cubic

(A)

(G)

(lP a;U Y"" L ILJ a;6OT"191 ~ LD

Q U ~ (f1jGfrGOTLDILJ Q L L c::~ ~C::8>IT60T6D
(B) Q u ~ (f1jGfrGOTLDILJ a;6OT"191 ~LD

(D) ",roIlLJ a;6OT"i91~LD

58. According to the principle of equipartition of energy each translational and vibrational
degree of freedom contributes ------ and ------ to Cu'

~) .!.R andR (B) . 1
, Rand -R

2 2

(G) .!.R and 2R (D)
J2R and ~R

2 2

"LDuuriuB:L(!;\ . ~JDiD6D 615I!!iIu5I6'oru,,!-, G1LD~~QUlLJiruy LDJDWLD d>i!!ilirQj "-.rfI""LD ~6TTQGlJ6o'or Cv -.;;@)

uriua;roI';;@)LDoSiELD ------ LDJDWLD

(A) .!.R LDJDWLD R (B) R .. J RLDiDWLD -
2 2

(G)
1 .

LDJDWLD 2R (D) 2R LDJDWLD .!.R-R
2 2

+- 25 DJCH/19+-
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59. The phenomenon of lowering of ------ when a gas is ,made to expand adiabalically

from a region of high pressure no a region of low pressure is known as Joule-Thomson effect.

(A) 'volume ~ temperature

(C) velocity (D) fugacity

9 ('9 6lJ ITlLI6lJITm i!jI c'9Ii£Iffi c'9I(':I'~!5 (lP 6iT6lT u@ji£lu516il @('9li>i!jI @j6Ol!DIi>!5c'9I(':I'~i!i(lP 6iT6lT U@ji£l';;@j Q6lJ U U LDIT!DIT

Qp6Ol!Du516il 61S1r\16lJ60lLlLI LDGu ITi!jI ------ @j6Ol!DlLILDGT6'oTU~ 1£"6il, i!iITLD"6'oT61S16Ol6lTGtj.

(A) U('9LD6'oT '(B) Q6lJUU,@6Ol6\l

(C) i£l6Ol"C:6lJffiLD (D) 6lJ cl1LD615lr\1!56'oT60lLD

60. Heat of combustion of methane is -890.3 PcJ. Calculate heat produced per gram of methane.

(A) 51.90 PcJ g" ~ 55.64 PcJ g'!

(C) 57.16 PcJ g'! (D) 53.40 PcJ g"

LD~Gi!i.,,-\l6'oTGTr\1Q6lJUULD,890.3 PcJ. 9('9 8J(TITLDUi~Gi!i6'oT "-.uSI(':I'LD Q6lJUU c'9I6lT61S16Ol~';; ffi-,;;8J0ffi.

(A) 51.90 PcJ g'! (B) 55.64 PcJ g'!

(C) 57.16 PcJ g'! (D) 53.40 PcJ g'!

61. The radius ratio for NaCI structure is

(A)

(C) ,

1.22

3.66

..A: 2.44

(D) 4.88

N a C I c'9I6OlLDU L5l6'oTc")!,(T61S18J!5LD

(A) 1.22

(C) 3.66

DJCHI19

(B) 2.44

(D) 4.88
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/

62.. The average velocity of nitrogen ill~lecule at STP is

(A) 28 cm sec-1

~ 45447 cm sec-!

(B) 22400 cm-! sec-1

(D) 981 cm-! sec

(A) 28 cm sec-!

(C) 45447 cm sec-!

63. ,The unit cell of metallic gold is

. (A) BCC

(C) Simple cubic

(A) BCC

64. Howmany Bravais lattices are present?

(A) 32

J 14

(B) 22400 cm-1 sec-1

(D) 981 cm-1 sec

~ FCC

(D) Hexagonal

(B) FCC

(B) 7

(D) 8

(A) 32

(C) .14

(B) 7

(D) 8

27 DJCH/19
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(A) s

65. Increasing~~~-- character of a bond decreases the bond angle. ;

~p

(C) d

(A) s

, (C) d

(D) f

i!>6irr."LD'" lU ~ ib1a; rT18;(:'5LbG U ITi!JI LSI." _ U Y 8; G a; IT_Lb (:'5"'!D$I!D&I.
I

(TI) P

(D) f

66. Which form of cyclohexanewill be the predominant form in the equilibrium mixture?

(A) Boat

..;If Chair

(B) Twist boat

(D) Reverse chair

.. /.

9('9 IfLDiBI.,,6U8;a;6U."QJu5IGiJ "'1f8;G6TTftQ~8;GIf6'Ofl6irr GT)iii!>~"'LDUY ~i51a; ~6TT6lS1GiJ~('98;(:'5Lb?

(A) UL(:'5

DJCH/19 28

(B) i51('9$1lU UL(:'5
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68. Fumaric acid OsO. ) ?

(A)

(C)

Meso tartaric acid

d-tartaric acid (D)

dl-tartaric acid

1-tartaric acid

OsO, ) ?

(A)

(C)

. (B) dl-LITfrLITrr1", ~uSlrotb

(D) l-LITfrLITrr1", ~uSlrotb .

69. Carbanions have

pyramidal structure (B) tetrahedral structure

(C) triangular structure (D) 'T' shaped

(A)

(C)

70. How many electrons are present in the Sp2orbitals of carbon is carbocation?

(A)

(C)
4

8 (D) 10

(A)

(C)
4

8

29

(B) 6

(D) 10

DJCH/19
[Turn over

Previous Year Question Paper GPATDrug Inspector Pharmacist DCO visit https://thepharmapedia.com/

Study Material Job notification visit https://thepharmapedia.com/

The
Pha

rm
ap

ed
ia



71. Whichamong the followinghas not the 'R' configuration?
COOH
I

NH; -C-H
" I

CH3

(B)
OH
I

HOOC-C-H
I
CH3 .

(C)

CHO
I

H-C-OH
I
CH,OH

(D)
Cl
I

Br-C-COOH
I
H

OH
I

HOOC-C-H
I
CH3

(B)

LSl6irrru('1)ru~ru rb!'JIbiToci9J'R' LjJD~""CD U Lj "-"" LlU i5QlQ)?

COOH
I

'NH -C-H
2 I

CHa

(A)

(C)

CHO
I

H-C-OH
I
CH20H

(D)
Cl
I

Br-C-COOH
I
H

72. In geometrical isomerism,notation 'E' derIvedfrom------language.

(A) Latin (B) .Greek

"'" German (D) English

DJCH/19 30
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.73. ,Vhen deciding the shape of the molecule, the number of ------electrons and lone

pairs are counted.

(B) J['

(D) . J[

'8'(19 (YlQ)8ioo.016'or "-(I9GlJ ~GO)LDUGO)uib ~irLDIT6O'iI8;@)LD GUITif>!

GT00-6JmfI8iGO)Ili LD!D!PILD ii'6O'iI ~ GO)_ GTQ) 8; L ~IT6'orIlim Ili_ 8; ffiIL UU (i)Iffil6'or!D601.

(A)

(C)

• (B) J[

(D) J[

7,1. Outer electronic configuration of Lanthanum in 'f' block series is

"
(A) 4£15do 682

,.IlIff" 4f' 5d' 6s2

(B) . 4£15d' 6s'

(D) 4£15d2 6s'

(A)

(C)
4£15do 6s2

4f' 5d'.6s'

(B) 4£15d' 6s'

(D) 4£15d2 6s'

75. Super phosphate of lime is a mixture of-----

~ Ca(H2P04)z'H20+2CaSO,'2H20

(C) Ca(H2PO')2+2CaSO,

(A)

(C) Ca(H2.P04)z+2CaSO,

31 DJCHI19
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76. Complete the reaction .16K89 --->?+ _leo

(A)' 37Ru"

(C) 37 Ln 89

.(B) ,,,Re".

.{II!{' 37 Rb'"

(A) (B) R ~!l
37 e

(C) Ln8937 (D) Rb"37

77. Which among the following is not an isotope of uranium?

(A)

(C)

234U

238U

(B) 235U'

~ 232U

. ,

(A)

(C)

234U

238U

. (B) '"'u
(D) 232U

78. Which among the following is a Lanthanide?

(A) Pu'

(C) Th

(A) Pu

(C) Th

DJCHI19

(B) U

.A Gd

(B) U

(D) Gd
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80. Isobars.are atoms having -----

(A) Same mass number and same atomic number

'" Same mass number and different atomic number

(e) Different mass number and same atomic number

(D) Different mass number and different atomic number

. DJCH/19
. [Turn over
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81. The source of enorm()us energy of sun is due to -----

(A) Fusion of deutrium and tritum

(B) Fission of tritum to form helium

VIfI!f Fusion of Hydrogen nuclei to form helium nucleus

.(D) Fission of uranium

@5rThu6Ollar 291!f1'" 291GTT6tjc'lj,til!Dcil QPQ)~!fI til"'IT"" "'IT~mill ------

(A) . 'T\!d>LrThu ill Ultil1!)Jill "l-'" ~L "l-w Lb@"'''O'[6lJi!iITQ)

(B) "l-"'~L"l-wLb t5161T6tjtil1!)J~6l5IwLb $I"'LUUiDITcil

(C) "'~L'l1\iar "-L"'<!9 @",m)i;@ ~6l5IwLb $I"'LUUiDITcil

(D) lLI G ~60lIw Lb t5161TUU i!iITcil

..
82. What are reactants needed for CAN fertilizer preparation?

(A)

'"
NH3,CaS04,HN03

NH3,CaC03,02,HN03

(B)

(D)
NH3,CaS04,H2S04

NH.3,CaS04, O',HN03

-,

83.

'CAN ,,-~ill i!iwrTr\1ffi", Gi!i"'6'Jwrr"" Gl'il",,,,,uG U IT<!9L",GiTwrr"'6lJ?

(A) NH3,CaS04,HN03 (B) NH3,CaS04,H2S04

(C) . NH3,CaC03,02,HN03 (D) NH3,CaS04,02,HN03

. Which is'not identical for an atom and an isotope?

(A) Number of protons (B) Number of electrons

~ Number of Neutrons (D) Number of energy levels

(A) LjG ~ITLLIT ar",ffiI ar GT"""6ffi)ffi", If

(C) [bllLl L'lIT ar ",ffiI ar GT6lirr6ffi)ffi", '"

DJCH/19 34

(B) GTQ) ffiL~ ITar '" ciI ar GT~ 6ffi)ffi", '"

(D) c'lj,til !Dcil UlL U&J '" ffiI ar GT6lirr6ffi)ffi", '"
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84. Complete the following 'iN+la-partic1e-> ';O+?

electron

proton

(B)
(D)

neutron

r - particle

85. The unstable oxidation state of'Th' is'

..,,( +3

(C) +2

(A) +3

(C) +2

86. The geometry of Fe(CO)5is

~ Trigonal bipyramidal
•..

.. (C) Pentagon

35

(B) . ~i!d>L~rr6N

(D) r -~,"m

(B) +4

(D) +5

(B) +4

(D) +5

(B) Square pyramidal

(D) Octahedral

.I

DJCHI19.
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87. EAN value for A'g in [Ag(NH,).]' is ----- [Atomic number of Ag is 47]

~ 54.

(C) 51

(B) 55

(D) 52

(A) 54

(C) 51

(B). 55

(D) 52

88. By dsp3 hybridisation -----geometry complexes are formed.

(A) Tetrahedral

.JII!f Trigonal bipyramidal

(B) Square planar

(D) Octahedral

'dsp3 ~6lJIT~:'Om a;6\luLj (l!l6\lLDITa;.------ 6lJLq-6lJmm "':'06UIfa; L5l""""-ULj ""'I''''''''-6lJIf GIfITLDffiJa;m.

1LC56lJIT$I JDi9I.

(A) IDIT6or(lp$l

(C) .(lpIi;Ga;rr...,- @C5 ",,-LilLj

1(B)

How many CI~ ions are precipitated as AgCI, if AgN03is added to COCb.3NH3?

~o

89.

(D) 3

•

(A) 0

(C) 2,

(B) 1

(D) 3

DJCH/19 36
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90. In the titration between Na2Co3(vs) HCL, the indicator used is/are -----

(A)

~

Phenolphthalein

Methyl orange'

(B)

(D)
Thymolphthalein

Both (A) and (C)

••

(A)

(C)
(B) 6'Oli!'.'D ITGiJ000U i!'61SlQrr

(D) (A) LD!Dl'JILD(C)

91. An example(s) for a non-bridged carbonyl is/are -----

.ItfII(If(j Fe (Co)s

. (C) Fe3(Co),2

(B)' , Fe2(Co)9

(D) Mn2(Co)1O

(A) Fe(Co);

(C) , Fe3(Co),2

(B) F82(CO)9

(D) Mn2(Co)1O

'92. According to werner's theory' the coordination number is equal to

(A) Primary valency .~ Secondary valency

(e) (Primary valency-Secondary valency) (D) (Secondary valency -Primary valency)

Q@J rT""rT i!'~i'jJ@J~ibI Qrr U"I-. 9(19 R'i!'GiJIf" L516'Ol_U l.I "'.;",. ------ 8;@i IfLDLD

(A) (Yl i!'GiJ )f1..i Q) .@ 6'Ol_ ~ iDQrr

, (B) .@ ~';""LITLD )f16'OlQ) .@6'Ol-ibIiDQrr

(C) ( (Yli!' GiJ)f16'OlQ) .@601-ibIiDQrr - .@ ~';""L ITLD)f1601Q) .@6'Ol-ibIiDQrr)

, (D) (.@ ~';""L ITLD)f1601Q) .@601-ibIiDQrr - (Yl i!'GiJ )f1601Q) .@6'Ol-ibIiDQrr)

37 DJCH/19
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93. .Primary standard solution used in acid-base volumetric analysis is --- __

(A)

(C)

Sodium ethoxide

Sodium phenoxide
-,

(B) Potassium acetate

'WifII' Potassium hydrogen phthalate

94. C.F.S.E for d3 filled ion present in Octohedral complex is ---~- Dq.

(A) -10 Dq

(C) :t 3 Dq

(B) +2 Dq

\tI(/!J - 12 Dq .

(A) -10 Dq

(C) :t 3 Dq

(B) +2 Dq

(D) - 12 Dq

95. [CO(CN)G]4. complex is formed by ----- hybridisation .

(A) dSp2 (B) sp2d

.~ d'sp' (D) sp3d'

[Co (CN) 6] 4. ITib60 If", tSi6'l6"",j '-I ~ 6'l6llllT6lj", C::1fITLD LD IT6IlT~J. ------ "'Ql UtSi6llT ~6lJ IT~iD6IlT~iDIT60

"-(i96lJ IT41!Di9I.

(A)

(C)

DJCH/19
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(B) sp2d'

(D) sp3d2
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96. A mixed fertilizer is represented as 4-8-.2. It contains -----

(A) 4%phosphorus 8%Nitrogen 2% Potassium

.. \IIII!f" 4%Nitrogen 8%phosphorus 2%Potassium

(C) 4%Nitrogen 8%Potassium 2%phosphorus

(D) 4%phosphor.us 8% Pctassium 2%Nitrogen

. (A) 4% UITQuu~Qu 8% 6<»!lL..~1Ji~ 2% QUITL..LIT~I1JLb, .

97. NuCIel,lrfusion requires -----

(A) Bombardment with slow neutrons

~ Very high temp.erature

(B) Bombardment with fast neutrons

(D) Very low temperature

,.
(A)

(C)

39 DJCHI19
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98. 'Concentrated nitric acid' has the &tructure

~ HO-NOz

(C) Similar to NaNO,'

(13) H. NO,

(D)' Similar to picric acid

.'

(A)

(C)
HO-NOz (B) H.N03

(D) t.SIffir\1,;;~uSI.J~",,~'til::bi!i~.

99. n.-+ 0' *. excitation is not present in

J CRJNOZ

• (C)

(B) CH,PH

(D) (CH3)3 N .

(A)

(C)
(13) CHaOH

(D) (CH3)~N

,

100. First liquid anaesthetic used was

~ (CZH5)zO

(Cl Trilene

(B) H,C =' CH - °-CH = CH,

(D) Chloroform

DJCH/19 40
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••

•
"' lOI. 2H has

..L 1 (B) 1
1>- 1<-

2 2

(C) 1=0 (D) I=:!:.!.
2

2H' -6\J

(A) 1 (B) 1
1>- 1<-

2, 2

(C) 1=0 (D) " 1
I=:t~

2

102. Decomposition of tetrachloroethane gives

(B)

(C)

(D)

Trilene

Ethylchloride

Chloroform

Vinethene

Q ~ L VIT@je:GTTITe:VITR'~ e:p'''' 1fI."p'ru." L~ P' ITGil".$I." LlJ U i9I
, "

(C)" @je:GTTITe:VITUinD

41 DJC:H119
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103. Find out.the finger print region in IR spectroscopy

(C)

700 - 1500 cm-1

2000 - 3000 cme,

(B)

(D)

1500 - 2000 cm-1

3000 - 4000 cm-1

(A)

(C)

700 - 1500 cm-1

2000 - 3000 cm-1

. (B) 1500 - 2000 cm-1

(D) ,rooo - 4000 cm-1

, .

104. Name the product

Salicylic acid Acetic anhydride?:>

(A)

(C)

Sodium salicylate

Paracetamol

'" ~spirin

(D) Aminophenal

(A)

(C)

DJcfI/19
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42

(B) ~GiuuITl..,
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105. In pharmaceutical, the chemical group H2NCH,CO - is named by IUPACas

(A) Amino acetate

~ Glycyl

(B)' . Amino acetic acid

(D) Farmyl

(D) :'urrIT6"OlLD6U

106. The compound D(-) thl'eo-2-dichloro acetamido-1-p-nitrophenyl propane-1, 3-diol.is the

chemical name of

(A) . 'Penicillin .

./ Chloramphenicol

(B) Paracetamol

(D) ibuprofen

(A)

(C)

43

(B) urrgrr$lL.LLDrr6U r
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.107. Which of the following is known as inorganic benzene?

(A) Borane ../ Borazine.

(C) BFa , .
(D) Boron Nitride

..

(A)

(C) BFa'

(B) . GUIT~8'6irr

•

/

108. Lowest first ionisation potential will be of

(A) Halogens (B) Inert gases

(C) Alkaline earth metals ~ Alkalimetals

"

DJCH/19 . 44
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109. Geometrical shape of CIO,~ is

(A) Trigonal.

(C) .Pyramidal

(C) . LSl~uS10

\ L ~etra!ledral

(D) Linear

110. What is the HOHbond angle in water?

(A) 1070

(C) 1020

(A)

(C)
1070

1020

(B) 1050

(D) 1110

111. Diboranc reacts with chlorine to give

(A) Dichloro diborane

(C) Hexachloro diborane

(E)/richloro dlborane .

~. Chloro diborane

(A)

(C)

t:. 45 DJCH/19
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112. Which of the following species has the highest ionisation potential?

(B) Ar

(C) AI'

(A)

(C)

(B) Ar

113. Metals belonging to the same group in the periodic table are

Be, Ca (B) Be, Na

(C) Be, Cu (D). Be, Li

(A) Be, Ca

(C) Be, Cu

DJCH/19 46

(B) Be, Na

(D) Be, Li
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. 114. Two lone pair ofelectrons and two bonded pair of electrons are present in

(A)

(C) CH4
, .

(D) BF3

(A)

(C) CH4

'(B) H,O

(D) BF.3

,

115. The basic structural unit present in all types of silicates is"

(A) SiO, Unit

~ SiO:- Ion

(J.l) SiO,'- Ion

(A)

(C)

SiO, ~.u@j

47 DJCHI19"
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,
116. In Ei type elimination reaction the rate of the reaction depends on _

(A)

J
(C)

(D)

concentration of the nucleophile

concentration of the suhstrate

both (A) and (B)

concentration of the electrophile

(B) 0l5I6"Ol6rfu@ Q U IT('961f16N Q"'!!5lGlj

(C) (A) LDrDWLD(B) qj,8ilU:; &il~OO@LD

117.' 'NPK' fertilizers are mainly produced at - _

~ Goa

(Bl Bhilai

(C) Alwaye

(D) Sindri

(A) GffiIT6lJIT

(B) L5)6UITtU

(D) 1fl~~rT1

DJCH/19 48
, .

Previous Year Question Paper GPATDrug Inspector Pharmacist DCO visit https://thepharmapedia.com/

Study Material Job notification visit https://thepharmapedia.com/

The
Pha

rm
ap

ed
ia



118. Which one of the foUowing is more powerful ortho-directing group then others?

(A) X

(C) OH

(B) Me

vtt 0-

(A) X

(C) OH

(B) Me

(D) 0

119. The 1,4 addition product of 1,3-butadiene and HBr is -----

(A) 3-bromo-l butene ~ bromo-2-butene

(C) 3,4-dibroino-l-butene (D) I ,4-dibromo-2-butene.

(B)' LjG~fTGLDIT-2-L!i1\1,j,L",-Girr

(D) 1,4-""LLjG~fTGLDfT ,2-L!i1ikJ,L"'-Girr

120. Which among the following is nota '+M effect' group?

(A) .. OCH,

~) "C=O
/

(B)

(D)

OH
NEz

(A) OCH,

"(C) C = 0
/ .

49

(B) OH

(D) NHz
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121. High energy HOMO, soft nucleophile is -----

(A)

(C) MeLi

(E) NH,

~ R,P

(A)

(C) MeLi

(B) NH,

(D) R3P

122. D~His .

~ a free radical

(E) an electrophile

(C) a nucleophile

(D) neither a charged species nor a free radical

DPPH 6rGoTui9J -----

(A)

(B)

(C)
(D)

9@ 6r6ll&LgITGoT B>GUriQUIT@Qr

9@ ~@lI&B>@ B>GUriQUIT@Qr

u5iGoT"'6'l l1llU rD !Di'ji LO@6U6'l6ll, 9 rD 6'l!D u5iGoT""@lI "-@'-I @6U6'l6ll

123. ~rbenes are

, ~A) strong electrophiles

(e) strong nucleophiles
(B) weak electrophiles

(D) weak nucleophiles

(A) GJ'iITilUu5i&B>6r6ll&LgITGoT ';GUriQUIT@QrB>Qr

. (B) . GJ'iITilULO@j6'l!D)i;::v 6r6ll&LgITGoT B>GUriQ U IT@QrB>Qr

(C) GJ'iITilUu5i&B>~@lJ&B>@&B>GUri QUIT@QrB>Qr

(D) GJ'iITilULO@j6'l!D)i;::v ~ @lI&B>@&B>GUri QUIT@QrB>Qr

DJCH/i9 50.
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124. Addition of hydrogen at positions 1 and 4 of benzene to give an unconjugated diene in

Birch reduction

Diels-Alder reaction.

(B) Markownikoff addition

(D) Hofmann elimination

QUQrr8'di6irr 1 LD!D!J)ILD4 qj,$1UJ @u,"a;cl1Gil ",,~L~!£Qrr GlfrTffi""a; )DL)!>i!ji@""m @~L""LU

LSI""mu LSIGilQ)ITi!' ""uD QrrQa;ITGiUUi!ji------

(A)
(C)

(B) LDITrTffiGa;rrdiffia;ITuGlfrTffi""a;

(D) ~ITooouGLDQrr)!,ffia;GilQc;j",,~

125. l-chlorobutane reacts with to gIve buton-l-ol and gIves hut-l-ene with

J>
(C)

aq. NaOH, alcoholic KOH

aq. NaOH, aq KOH

(B) alcoholic NaOH, aq.KOH

(D) alcoholic NaOH, alcoholic KOH

(B) qj,Gila;~ITa\1ffiNaOH, )!,rTa;.u)!>15KOH

(D) . qj,Gila;~ITa\1ffiNaOH,qj,Gila;~ITa\1ffi KOH ..

1-@jG""ITG~ITLSI!!sJ,LGLQrr------"-.LQrr 6lS1",,~ Yr\I)!>i!jiLSI!!sJ,LLQrr-1- qj,GilLD!D!J)ILD------

"-.LQrrLSI!!sJ,L-1- rrQrrQa;ITGiffi$1~i!ji.

(A) )!,rTa;Q»!>i!'NaOH, qj,Gila;~ITa\1ffiKOH

(C) )!,rTa;Q»!>15NaOH, )!,ira;Q»!>15KOH

126. When 2-bromobutane is heated with alcoholic KOH, the main product is -----

~ 2-butene (B) I-butene

(C) propene and ethene (D) n-butane,

2-yG~ITGLDITLSI!!sJ,LGL",,~.qj,Gila;ITa\1ffiI{OH "-.L~ @;GiUGi~i!jiLDGUITi!ji. $1""Lffi@jtD ('Pffi$1UJ

6lS1"" ~ 6lS1"".".Q U IT(19m

(A)

(C)
2-Y!!sJ,L",-Qrr

LSlG~ITUuQrrLD!D!J)ILDrr~p;Qrr

51

(B) l-Y!!sJ,L",-Qrr

(D) n-Y!!sJ,LGLQrr
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127. Which of the following reacti~n is not an example for a heterogeneo'us catalysis?

(A) 802 + O2
Pt ) 28O, (B) Nz +3H2

Fe )2NH"

(C) CH, = CH2 +H2
Ni ) CH, -CH, ~ 2H,Oz 1- )2H2O+02

a: ~B;",6lim-L .T)t ib Q\1 GO)GIlTU Q) U Lq-Q\1 GO)GIlT1khB;"'!i>i51 JD'" ITGIlT""'ib IT~ "'" til .$I GO)L IlJ ITi!)J ?

(A) 802 + 02 Pt) 280, (B) N2 +3H
2

Fe) 2NH,
1-(C) CH2 = CH2 +Hz N;) CR, - CH3 (D) 2H,Oz ) 2 HzO+ 02

128. Which of the following staten..'ent is not correct?
(A)

(B)

~

Lyophobic colloids are irreversible

Lyophobic colloids are precipitated by low concentration of electrolytes
Lyophilic colloids are reversible

Lyophilic colloids exhibit Tyndall effect

a:~B;",6lim-L~JD,!1)Jm .-riBib ""JD,!1)J "rTlllJITGIlTi9I ~ciJQ)?'

(A) "'GO)~UUIT6irr Q6tJ,!1)JB;@)til ""~LDrliJ",m WffiIT!i> ib6irrGO)WlLj"';LIlJGIlT

(B) "'GO) ~u U IT6irr QQj ,!1)JB;@)til ""~LD rliJ",m uSl6irru@)ffiI",ffil6irr @)GO)!J)6lJITGIlTQ"rD! Q\1 ciJ ~ ~ U Lq-6tJ IT.$I6irr!J)GIlT

(C) "'GO) ~ U U IT6irr '" 6tJ IT"" ~ LDrliJ '" m Wm ib6irr GO)LDlLjGO)LIlJ GIlT

(D) "'GO)~u U IT6irr "'6tJ IT ""~LD rliJ,?m Lq-6irrLITciJ Q\1 GO)ffiGtj Q "'IT6lim-@mffiGllT

129. Which of the following has a dipole moment value? .

(A)

(C)

(A)

(C)

DJCH/19

1,3,5-trinitrobenzene

1,3,5-trinitrobenzene
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130.

131.

An example, in which the dispersed medium is ,uid and. the dispersed ph~se being gas is
(A) emulsion . ~ foam _ . . .

(C) sol (D) smoke

L51r\1""" """L"'LD ~~6lJI1lIT"6ljLD, tSlr\1""" i£I""GD 6lJITli..j6lJIT"8;Q"IT6,mL ""19LDIb~rD@) 9IT '"(5IIb@8;"ITL(5I

(A) UITQlLDLD (B) iPJ""~

(C) IfITQl (D) Lj"""

Which of th'e foll~wing has zero dipole momen~lue?
(A) chlorobenzene "tI8J) p-dichlorobenzene
(C) phenol (D) o-dichlorobenzene.

$198;".mL GlJrDQ)lm'"@ ~(f1j(LP""6OTW ~(f1jUULD •• 1iJwwlb""lbu QUrDQ)lmm@?
(A) @)C:mITC:~ITQu6irr8'6irr (B) p-""L@)C:mITC:~ITQu6irr8'6irr

(C) U60TITQl (D) O-""L@)C:mITC:~ITQu6irr8'6irr'

132. Which of the following is diamagnetic?

Iron

Magnesium

(B)

(D)
[NiCl, ]2-

Nickel

(A) ~(f1jLDLj

(C) LD8;6O'1If1W'LD

133. Gouy balance is used to measure
(A) optical properties
(C) conductivity

"ITUJ Ib~ IT""IfU UW6irrU (51Ib~ ~ m 6151(516lJ@

(A) 9GTf1u51wQl u.mLj"m

(C) "LIb@ Ib Ib6irr"" LD

(B) [NiCl,12-

(D) i£l8;","

...L magnetic properties

(D) potential

(B) a;IT,r1lb0 u.mLja;m

(D) u516irr6OT@IbIbLD

53 DJCH/19
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134. Which of the follo;"ing is not related to a heterogeneous catalysis reaction?

~ The decomposition of hydrogen peroxide in presence of 17 as catalyst

(B) Formation of SO'1using 802 and .oxygen in pres~nce offinely divided Platinum ..

(C) Oxidation of ammonia to nitric oxide in presence of Platinum

(D) Decomposition of aqueous solution of H202 catalysed by Mn02

135. The density of paraldehyde IS 0.9943 g cm-3. Its molar mass is 132.16 g mol-I. The

parachor if the surface tension is 25.9 dyne cm-I.

~ 299.87

(C) 400.10

(B) 132.92

(D) 1.9886

(A)

(C)

DJCHI19

299.87

400.10
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(B) 132.92

(D) 1.9886
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136. Match the following on the basis of dipole moment concept:

(a) . BF3 l. Linear

(b) •CO2 2. Pyamidal

(c) CH, 3. Tetrahedral

(d) NH3 4. Planar

(a) (b) (c) (d)

(A) 1 4 2 3

(B) 4 3 1 2

. (e) 3 1 4 2

-.A 4 1 3 2

g w.;;a;...,. L 6lJ JiJ 6Ol!D~ (Ilj (1p6Ol0"lU :i1 (Ilj U Y 60lillu51"", a;(IljI1>@}Iu u"r QUIT (Ilj11>@}Ia;

(a) BF3 l. G)J5rTGa;IT(ij\

(b) CO2 2. LSI~u\1(ij\

(c) CR. 3. )J5IT""' (1p £1

(d) NHi 4. 8'lD~ffiLb

(a) (b) (c) (d)

(A) 1 4 2 3

(B) 4 3 1 2

(C) 3 1 4 2

(0) 4 1 3. 2

1= 55 DJCH/19
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----- dyes are applied to wool.137.

(A)

(C)
Azo

Vat
~
.(D)

Acid

Sulphur

(B) ~uSl6\).

(D) ffiiD:l'ffi

ffiLDucllu9kiJ ulU<iMu(ijllii:l'uu(ijlQJ~ ----- ffiITlUriJffi6IT.

(A) ~~GlUIT

(C) QJrrL

138. Which of the following is not used as a dye?

(A) Naphthol yellow

¥ Methyl oran~

)

(E) Congo red

(D)' Mordent brown

(A) iDITu:l'ITGil11l~"6IT

. (C) Ql1lliiiE1Gil~~~5

(E) ffiITriJ~$IT 518;ul~

(D) l1lITnUIDL uGI~m<iM

139. The birth place of indigo dye is
(A) . Srilanka (B) Australia

~ India (D) Pakistan

@.m"l-G"IT "IT lUliiiE1<iML51!Du L5ILID, .

(A) .., If6\) riJ 8; IT (B) ~.., iE1~ ~6151lUIT
(C) @,lliiE1lUIT (D) u IT$l..,:l' IT6ili

140. The colour of methyl orange in acid solution is

(A) Orange . ~ Red

(C) . Blue (D) Pink

~ uSI ill 8; "GO)~,,6151GilQ l1lliiiE1Gil~ ~~51<iM i£l!DLD

(A) ~~~5.

(C) ,millLD

DJCH/19 56
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14'1. The specific rotation of a -anomer of D(+)-glucose is

(A) .+19.2°

~ +11l0

(A) +19.2°

(C) +1l1°

(B) +52.5°

(D) -1110

(B) +52.5°

(D) -1l1°

\
142.. Hydrolysis of sucrose with dilute acids gives ----~. and -----

(A) glucose, maltose

~ fructose, glucose

(B) glucose, starch

(D) f,'uctose, maltose

(A) @;\29,;;G",rrdu, LDrTroGLrrdu. . .

143. Kiliani reaction is conversion of-----to ~----

(A) an aldose, lower aldose

(C) a ketose, higher ketose

(B) a ketose, lower ketose

..;It an aldose, next higher aldose

57 DJCHI19
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(A) addition - elimination

144. Benzene mechanism is a/an ----~ mechanism.

J> elimination - addition

(C) addition ~ substitution' (D) substitution - addition

Qu<ill"",,<ill 6lJ \9l C'P"" JD~@ ------ 6lJ \9l C'P"" JD.

(B) ~ffilE6iJ - G~rTibiJi6iJ

145. The electrophile in the nitration reaction is

(A) NO;

(C) N 0-
2

(A) NO; (E) NO;

(C) N 0-
2 (D) N 0+

2

dilute sulphuric acid, 80°C

dilute sulphuric acid, 100°C

(B)
(D)

concentrated sulphuric acid, 80°C

concentrated sulphuric acid, 100°C(C)

146. Benzene sulphonic acid is prepared by heating benzene with ----- at _

J>

G u <illS<ill ,,6iJGu ITa\lffi <!91u5l6\JLD QU <illS",,"," ------ "-.L"," - _
iJiiu ITITlffilEUu (ij\8il )Di!jI.

(B) ~rTibiJi lEJ1iJilE <!9Iu5l6\JtD, 80°C

(D) ~rTibiJi lEJ1iJilE <!9Iu5l6\JLD, 100°C

DJCH/19 58
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147. An example for third order reaction is

(A) 2N ,0" --> 4N02 + O2

(B) CH3COOC,Hs + H20 --> CH;jCOOH + C2H50H

(C) CH"COOC2H5 + NaOII --> CH"COONa + C2HsOH

'JIf!> 2NO + O2 -} 2N02

ey:>6irriDmil GlJGOl" 651 GOlGOT8;@j 'ii' IT<OrU) ~1918;" ITLU)

(A) 2N20S'--> 4NO, + 02

(B) CH,COOC2H; +H20 --> CH3COOH +C2H50H

(C) CH3COOC2Hs + NaOH --> CH3COONa + C2HsOH

(D) 2NO + 0, --> 2NOz

148. A catalyst enhances the speed of a reaction. This is because

~ it lowers activation energy (B) it increases activation energy

(C) it lowers internal energy (D) it increases internal energy

651 GOlGOT!!oJ,8;$I. V'('lj 651 GOlGOTu516irr GGlJ "~GOl il' ~ i5l" UU U) ~191 $I iDl9I. ~ 191 G)"QGOT6nTI6iJ

(A) $I mIT 6l.j Q" ITirr ~iD iDGOl6lJ@jGOliD8;$IiDl9I (B) $I m IT6l.j Q" ITm ~iD iDGOl6lJ~ i5l" r\l8;$1 iD191

(C) "-m ~iD iDGOl6lJ@JGOliD8;$IiDl9I (D) "- m ~iD iDGOl6lJ~ i5l" r\l8;$1 iD191

149. The half life time. (ty,) of a first order ~eaction is 10 minutes. The time required for the

concentration of the reactant to change from 0.08 m to 0.02 m is

(A) 10 minutes ..;It 20 minutes

(C) 30 minutes (D) 40 minutes

V'('lj C'Pil'6lJITLbu"l- 651GOlGOTu5I6irr U ITi5l GlJ ITW8;GOl" G)!lgLb (ty,) 10 )f1uS1uiu"m ~@jLb. V'('lj 651GOlGOTu5I6irr

651GOlGOTuG) QUIT('ljffi16irr GLDIT6lJITIT QIfJDl6l.j 0.08 m G61('ljltl9l 0.02 m 8;@j l1lITiD~ Gil'GOlGlJuuU)Lb G)!lgLb

(A) 10)f1uS1uiu"m (B) 20)f1 uSluiu"m

(C) 30 )f1uS1uiu"m (D) . 40 )f1uS1uiu"m

59 . DJCH/19
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150. At infinite dilutioh, A;" values for sodium acetate, hydrochloric acid and sodium chloride are

91.0 x 10-4, 426.16 X 10-4 and 126.45 x 10-4 sm' mol-' respecti~~ly (at 25°C). A ° value for

acetic. and at infinite dilution is ----- sm' mol-l::

(A)

(0)
208 ..71

217.45
(E)

~

461.61

390.71

ru g LbU !DiD fij iT$10 )51." GiJu5iGiJ, G:If ITl<j.UJLb <!JI41 G:Lt.:' ." ~ L G:gIT @jG6fTITrfJ" <!JIlDku Lb, LD!Dw Lb Gif ITl<j.UJLb

@jG:6fTIT."gl<j.~ A;n LD~U'-l C'P"'iDG:UJ 91.0 x 10-4, 426.16 X 10-4 LD!DWLb 126.45 x 10'1sm' mol-1
. . . .

(25°0 u5iGiJ) rugLbu!DiDfijiT$!b )5I"'Q)u5iGiJ, <!JI41l<j." <!JIu5IQ,ii~~ A;" LD~UUIT6OTi!jJ
sm' mol-'.

(A)

(0)
208.71

217.45
(B) 461.61

(D) 390.71

151. Which of the following electrolyte can not be used in a salt bridge?

(A) NaOI

~ ZnOb

(E) KOI

(D) K,S04 •

'.(A) .NaOI

(0) . ZnCIz
(B) KOI

(D) K,S04

152. I ,
The emf of the standard hydrogen electrode IS ----- volts.

(A) 1.09

(0) 1.10
(B) 1.0183

~O

(A) 1.09

(0) 1.10'

DJCHI19 60
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153. The equation that relates'" G with "'8 IS

(A) Kircho"ff

(D) First law of thermodynamics

~ Gihbs-Helm holtz

(D) Hess's law of constant heat of summation

• (A)' IfIrTifIT,',U

(C) 1fI:,u.m-G~.uLo G~IT.uL.m

(B) G 6tJuU ,@u.J8;a;6i5iLu<JSl6or (lP ib6U 6i5Iib1

(D) G~.m GnSl60rGQj u U LD IT!DIT8; ""L (5\ 6i5Iib1

154. The efficiency of a Carno,t's engine working between temperatures 300 K and 0 K is

(A) 0% ' ~ 100%

(C) a (Infinity) (D) 50%

(A) 0%

(C) a (u'lLLiD!Di9I)

(B)' 100%'

(D) 50%

a
(B)

155" Based on Bragg's equation for B.C.C. crystal structure dnkl for 110 plane is '

.~ !!-'
J2

(C)
a
./4

(D) a
.J5

(A)
a (B) a

J2 .J3

(C) a (D) a
./4' .J5

+- 61 DJCH/19+-
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156. 1i.;.1'for an ideal gas is

.~ 0

(C) negative
(B) positive'

(D) positive (or) negative

(A) .0

(C) GT:51rTLD""iD

. (B) G)lirTLD""iD

(D) G)lirTLD""iD ~6UQ)i9I GT%lrTLD""iD

157. According to Le Chatlier's principle ------ and ------ in temperature and
pressure favours the formation of NO, in the following equilibrium:

N ,O,,(g)~ 2N02 t.H = +59 KJ

(A)

(C)
increase and increase

decrease and increas~
(B) decrease and decrease

~ increase and decrease

L516irrGlJ(i9LD IfLD)fi""Q) u5I6U, Q) -'''ITL6tSI UJrT 6lSI:51u516irru "t

QGlJuu)fi""Q) LDJDiJ)ILD~@!5iDLD NO, ~(i9GlJITiD""Q) IfITiDffiLDIT8;@5LD.

N 20 4( ) ----" 2N02 t.H = +59 KJ,g~ ,

(A)

(C)
~:51ffiIT1Ulj LOJDiJ)ILD~:51ffiIT1Ulj

@5""!J)uy LOJDWLD~:51ffiIT1Ulj

(B)
(D)

@5""iDUlj LDJDiJ)ILD@5""iDulj

~:51"IT1Ulj LDJDWLD@5""iDUlj
\

adiabatic process(D)
isobaric process

isothermal process'

The process in which volume remains constant is called

. ~ isochoric process(A)

(C)

158.

(A)

(C)
~ @!5iDLD LDITiDITQ IfUJ 6UC'P"" iD

Q GlJU u)fi "" Q) LOITiDITQ If UJ6UC'P"" iD

(B) ffi6OT~GTT6lj LOITiDITQlfUJ6UC'P""iD

(D) QGlJUULDLDIT!J)ITQlfUJ6UC'P""iD
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159. Which of the following is not true in case of an ideal gas?

A gas which does not obey Boyles and Charles laws at all temperatures and pressure

(B)

(C)

(D)

. '.
A gas which obeys Boyles and Charles laws at all temperatures and pressure

A gas which obeys gas equation PV = nRT

A gas which obeys gas laws only at low pressure and high temperature

(A) U ITu516iJ LD0iPllD /FITn-6iJciu .6l5I!5I'" UJ 6T6iJ6\J IT Q6lJ UU )£I"'6\J LD0iPllD ~ Q9!!>i" !!>!5I6iJ g~UU "l- UJ ITi!i 6lJ 6!fILDlD

(6lJITlLj)

(B) U ITu.\16iJ LD0iPllD /FITn-b\)ciu 6l5I!5I'" UJ 6T6iJ6\J IT Q 6lJ UU )£I'" 6\J LD0 !DlD ~ Q9!!>i"!!>!5I6iJ g~ UU "l-lLj lD 6lJ Q\1LDlD

(6lJITlLj)

(D) @5"'!D1ii i" ~ Q9!!>i" lD LD0iPllD ~!5I ffi Q6lJ UU)£I." 6\Ju.\16iJ 6lJ 6!fILD 6l5I!51ffi." 6fT8; g~ U U "l-lLj lD 6lJ 6!fILDlD

( 6lJ ITlLj)

160. Thermodyna",ical efficie;'cy of a near engine is denoted as

(A)
T) - Tz (B) Tz
Tz T) - T2

~
Tz - T) (D) Tz
Tz Tz - T)

(A)
T) - T,
Tz

(C) Tz - T)
Tz

63

(B)
Tz

T)-T2

(D) •
Tz

Tz - 7;

DJCH/19
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161. Braggs equation is

(A)

~

/L / A. = 2d sin e
nA. = 2dsine

(B) A. / n = 2d sin e
(D) /LA. = 2d / sin e

(A)

(C)
/L / A. = 2d sin e
/LA. = 2d sin e

(B) A. / i, =. 2d sin e
(D) /LA. = 2d / sin e

162. The value of the gas constant (R) is

(A) 0.0821 JK-I mol-I

(C) 8.314 Cal K-I mol-I

Q.JIT"-ILDrrp5161Sl(R) -6irr LD~ Ulj

(A) 0.0821 JK-l mol-1

(C) 8.314 Cal K-l mol-1

..A> 1.987 Cal K-I mol-I

(D) 0.0821 Cal K-l mol-I

(B) 1.987 Cal K-I mql-'

(D) 0.0821 Cal K-l mol-1

163.- The real gases exhit nearly ideal behaviour at

~) very low pressure (up to 10 atm)

(B) high pressure

(C) very high pressure

(D) between 100-200 atm .

.@lLJ60lj6U rr"-lffia;6TrID6061SllLJ60lj0 uoolj a;""6TT,"~ffiC5""JDlLJQU tilp5I(i9uUi9I

(A) . u51a;ffiC5""JD)i;!b~@ii5!bii5~60 (10 atm. 6U""~)

(B) ~~a; ~@ii5!bii5~60

(C) u51a;~~a; ~@Ii;!bIi;~60

(D) 100 (I}l!b60200 atm. 6U""~
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164. .In a graphite crystal,

~ a ; r ; 90°, j3 ; 120°

(C) a ; j3 ; r ; 90°

9C'9 $I~rrrnuL uLq.ffii5$1ciJ

(A) a ; r ; 90°, j3 ; 120°

(C) a ; j3 ; r ; 90°

(B) a '" j3 '" r '" 90°

(D) a ; j3 ; r '" 90°

(B) a '" j3 '" r '" 90° .

(D) a ; j3 ; "* 90°

165. Milk sugar is hydrolysed by dilute acids to give

~) D(+)- glucose and D(+)- galactose

(B) Twomolecules ofD(+)- glucose

(C) D(+)- glucose and D(-) - fructose

(D) Twomolecules of D(-) - fructose

urrciJ ;,r'r';;ffi";~-IB ~r'ri5iD~u51Q),,"ffi6ITrrciJ~~rrrD U@)i5iDrrciJ.$IrnLlJui91

(A) D(+)- @)~.;;affirrciu lJ)rDWtDD(+)- ffirrQJ.;;aLrrciu

(B) @C'9D( +) - @)~.;;affirrciu (YlQJ';;""-Wllim

(C) D(+)- @)~.;;allirrciu lJ)rDWtDD(-) -u~.;;aLrrciu

(D) @C'9D(-) - u~.;;aLrrciu (YlQJ';;""-Wllim

166. In standard hydrogen electrode the pressure of Hz gas is ------atm.

(A) 0.1

vi! 1

(B) 10

(D) 100

(A) 0.1

(C) 1

65

(B) 10

(D) 100
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167. Which among the followinghas not the'S' configuration?

~

NH2 Cl
I I

H -C -'COOH (B) CICH2 - C - CH(CH3)2
I I
COOC2H5 CH3

CHO H
I I

(C) HO -C - H (D) HO - C - CH3I I
CH,GH eOOH

•

NH2 CI
I I

(A) H -C -COOH (B) CICH2 - e - CH(CH3)2 .
I I
COOC2H5 CH3

eHO H
I I

(C) HO-e- H (D) HO - C - CH3I I
CH20H COOH

168. The (-) lactic acid has the melting point

(e) 18°C

-
(A) 26°C

(e) 18°e

DJCH/19 66
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169. Which compound shows enantiomerism?

(A)

(B)

~

(D)

CHzNHzCOOH

CHa
I

CHa - CH - CHCl '-:CH3

(C)

(D)

CH3

I
CH3 -CH-CHCl~CHa

170. Which of the following molecule is having chiral carbon?
(A) CHaCHOHCHa (B) CHa(CHz)4CHa

..I'! CHPH-CHOH-CHO

(C) CHzOH - CHOH - CHO

67 DJCH/19
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171. The absolute configuration of (+) tartaric acid is

(A) (88)

(C) (R8)

(A) (88)

(C) (R8)

172. l,2-Disubstituted cyclohexene is

.J> .optically inactive

(C) recemic mixture

(B) (8R)

~) (RR)

(B) (8R)

(D) (RR)

(B) optically active .

(D) meso compound

- ,
.173. The conversion of one form of optically active compound into the other is known as

(A) Resolution

(C) . Walden inversion

(B) Asymmetric synthesis

~ Recemisation

•

DJCH/19 68
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J
174. Complete the reaction C02+2NH3 -> ? -> NH2CONfI2+H20

(A) .NH2CO NH2

.wtt) NH2 COO NH4

(B) NH2 COO NH2

(D) NH2 CO NH4

Q\1..,6M1UJ !,j,fr~~Q"tU" C02+2NH3 -> ? -> NH2CONH2+H20

(A) NH2CO NH2

(C) NH2 COO NH4

(B) . NH2 COO NH2

(D) NH2 CO NH.

175. General oxidation state of Lanthanides is ----

(A) +1

~ .. +3

(B) +2

(D) +4

(A) +1

(C) +3

(B) +2

(D) +4

176. The isotope used to detect the brain tumours is ----

(A)

~

1-128

P-32

(B)

(D)

1-130

Fe-58

(A) 1-128

(C) P-32

69

(B) 1-130

(D) Fe-58
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177. "Nitrochalk" is ---~-.

~ a fertilizer

(C) a medicine

(B) an explosive

(D) an inorganic polymer

/

(B) 4f'5doSs'

178. Gd+3 has the electronic configuration ----- (Atomic number of Gd=64).

~ 4f'5doSso

(C) 4f'5doSs' (D) 4f'5d'6s'

(A). 4f'5do6so

(C) 4f'5do6s'

(B) 4f'5doSs'

(D) 4f'5d'6s'

179. In which oxidation state, the formation of complexes by lanthanides is rare?

..A,.) +1 .

(C) +4

(B) +3

(D) Both (B) and (C)

'")i;::o~8;.mII£~..-r!D!D iBl."rou516iJ,rorr)i;::o."..-r~ffiro, ~Ifl::orrffi (rr-::o6bIfffiL5J.,,_uy) ~"'_6lj" ~lfrTlDffiJffi"'QT

"-Q!)6lJrr8;@is;]!D~?

(A) +1

(C) +4

DJCH/19 70
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180. Which among the followingis very pale pink?

~ Eu3+ (B) Nd3+

(C) Pm3+ (D) H03+ ••

(A) Eu3+

(C) Pln3+

(B) Nd3+

(D) H03+

181. The most abundant rare earth in the earth crust is

~ Ce

(C) Yb

(B) Gd

(D) Lu

(A) Ce

(C) Yb

(B) Gd

(D) Lu

182. Loss of a particle is equivalent to -----

(A) Loss of two neutrons (B) Loss of two protons

~ . Loss of two neutrons and two protons (D) Loss of one neutron and one proton

(A) .@~oo0 ~!!d>L.~rr""s;Gir.@WULj

(B) .@~oo0 LjC~rrLLrr""s;Gir.@WULj

(C) .@~ooGl LjC~rrL.Lrr""s;Gir.@~oo0 ~!!d>L.~rr""s;Gir.@WULj

(D) U'@ LjC~rrL.Lrr"" LDJDiJ)Itb U'@ ~!!d>L.~rr"".@WULj

71 DJCHI19
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183. Lanthanides do not form complexes with -----

(A)

(C)

EDTA

Oxime

~ CO

(D) P - diketone

(A) . EDTA

184. Actinides constitute -----

(B) CO

,-

(A)

(C)

I inner transition series

III inner transition series

~ II inner transition series

(D) IV inner transition series

(A)

(C)

(B) less powerful than

185. A Hydrogen bomb is -----a-n atom bomb

~ more powerful than

(C) equally powerful to (D) nothing but

DJCHI19 72
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I
,

~

Ligand

Linkage(B)
(D)Co-Ordination(C)

186. [Co(NHals NOz] SO, and [CO(NHahSO,JN02 are -----isomers .

. ~ Ionisation

(A) ~WGmlWITi06U

(C) ~G!l6aT6lj

(B) @G!l6aTuy

(D) rrGml

Tetrahedral and square planar

Tetrahedral and Tetrahedral

187. The structure of [Ni (CN),]2- and [NiCI,]2- are ----- and ----- respectively.

~ Square planar and Tetrahedral . (B)

(C) Square planar and square planar (D)

[Ni (CN)4]2-LDrDWt.D[NiCl,]2- <!'4$lWQJrDn5lGMQJllj-QJffiJa;ciT(YlG!l!D~W

(A) ifLDiO'"'ifi91gt.DLDrDWt.D)!iITGM(Yl$l

(B) )!iITGM(Yl$lLDrDWt.DifLDi!iffiifi91gt.D

(C) ifLDiOffiifi91Jt.DLDrDWt.DifLDiOffiifi91gt.D

(D) )!iITGM(Yl$lLDrDWt.D)!irrGM(Yl$l

188. What is the condition for precipitation of a compound?

(A) Ionic product = solubility product ~Ionic product> Solubility product

(C) Ionic product < Solubility product (D) , Ionic product :£ Solubility product

~<'9 ~ifirLDt.DdJ~u"l-QJrrQJi!irD"rr6llT~L.LLDIT6llT61SI~GTGM6llT?------

(A) ~wGmlu QU<'9iE@j~Qi!irrG!l"= "G!lg~!DGMQU<'9iE@j~QiOrrG!l"

(B) ~wGmlu QU<'9iE@j~QiOrrG!l"> """g~!DGMGlu<'9iE@j~QiOrrG!l"

(C) ~wGmlu QU<'9iE@j~QiOrrG!l"< "G!lg~!DGMQU<'9iE@j~Qi!irrG!l"

(D) ~wGmlu QU<'9iE@j~Qi!iIT""":£ "G!lg~!DGMQU<'9iE@j~Qi!iITG!l"
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189. According to werner's theory secondary valency of 'Co' in COel3.5NH3.

(A) 3

'" 6

(B) 5

(D) 8

•••

(A) 3

(C) 6

(B) 5

(D) 8

190. Octahedral complexes are formed by ----- hybridisation

(A) Sp2

(C) dsp3

(B) dSp2

~ d2sp3

(A) Sp2

(C) dsp3

(B) dSp2

(D) d2sp3

191. If 25mi if 0.1N Fe2+ is titrated against 0.05N MnO:; taken in the burette, the endpoint is I
observed at - --- ---m!.

(A) 12.5

(C) 37.5

(B) 25

..,;JII!f 50

(A) 12.5

(C) 37.5

DJCHI19
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192. Ferrichexacyanoferrate (II) has the formula -----

(A)

..",
Fe [Fe3(CN)6]a

Fe, [Fe(CN)6]a

(B)
(D)

Fe3 [Fe(CN)6]a

Fe [Fe,(CN)6]a

(A) Fe [Fe3(CN)6]a

(C) Fe, [Fe(CN)6]a

(B) Fe3 [Fe(CN)6]a

(D) Fe [Fe,(CN)6]a

193. The crystal field stabilisation energy (CFSE) of a d6 system in high spin and low spin

. octahedral complexes are

(A) (-41\0 + p)and (-241\0 + 3p)

(C) (-24Dq + p) and (-4Dq + 3p)

\/If!f (-4Dq+p)and(-24Dq+3p)

. (D) (-241\0 + P) and (-41\0+ 3p)

~~'" 8i~!D61 LO!DWtD@i~lDib!O8i~!D61 "-~LlU d6 -.,..;.rQP.$l ~~-6tj.. GlfirLOriu,"ffil~u"t'" LjQJ

)tl~QJUUGlib!OUULL~!DlD6\)(CFSE) QP~lDGlU

(A) (-41\0 + p) LO!DWtD(-241\0+ 3p) (B) (-4Dq + p) LO!DWtD(-24Dq + 3p)

(C) (-24Dq + p) LO!DWtD(-4Dq + 3p) (D) (-241\0 + P) LO!DWtD(-41\0+ 3p)

194. E.A.N value for Ni(CO). is ---- (Atomic number of Ni -28)

(A) 32

.." 36

(B) 34

(D) 38

(A) 32

(C) 36

Ni(CO). ~. E.A.N LO~UUrr6llT~----- (Ni - ~~.,..;.r - 28)

(B) 34

(D) 38
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195. The colour of [CO(H20)6j2+ and [CoX,j2- are ----- and ----- respectively

J Red and Blue (B) Red and Red

(C) Blue and Blue (D) Colourless and Colourless

[CO(H20)6j'+ LDibwLb [CoX,j'- 6iT ffi6UITCY'''''JDGtlJ

(A) 6lruuy LDibwLb ,dj6ULb

196. The primary and Seconday valency of pt in [PtCI5(NH3)]- is ----- and _

respectively

(A) +4 and 5

(C). +3 and 5

(B) +3 and 6

~ +4 and 6

(A) +4 LDibwLb 5

(C) +3 LDibwtb 5

(B) +3 LDibwtb 6

(D) +4 LDibwtb 6

197. Which one of the following does not give positive test for Cu'+ ion in solution?

(A) Ammonium copper (II) Sulphate ~ Tetra ammine copper (II) Sulphate.

(C) Copper Sulphate (D) Copper Oxalate

DJCH/19 76
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198. According to valence bond theory, [Fe (CN)6]'-is -----

'I/If'If Diamagnetic (B) Paramagnetic

(C) Ferro magnetic (D) Ferri Magnetic

(A) 8i IT)i;~6lSI6\J8;@i~~6'oT""LD"-I"" L tlJ~ '

(C) o'oGuG~IT8iIT)i;~ fFULJl.j~ ~6'oT""LD"-Imm~

(B) 8iIT)i;~ fFITULj~~6'oT""LD"-Imm~

(D) oOoGuoooITI8iIT)i;~ fFITULj~~6'oT""LD"-Imm~

. 199. O~ation number of ,Co' in [Co Br2(en)2]+is

#ttIt) +3 (B) +2

(C) -3 (D) -2

[Co Bn(en)2]+ 6lSIQ)'Co' in qf,8;G11Sl1£GrnW!D",6lirr ------

(A) +3 (B) +2

(C) -3 (D) -2

200. The IUPAC name of the following co-ordination compound is

Na2 [Fe(CN)s(NO)]

(A)

~
(C)
(D)

Sodium nitrosyl pentacyano ferrate (II)

Sodium penta cyanonitrosyl ferrate (II)

Sodium nitrosyl pentacyano ferrate (III)

Sodium penta cyanonitrosy! ferrate (III)

$\iJ8;8i6lirrL fF~Q) t51",,_ULj GIFirLD~~6'oTIUPAC GutlJlJITrn~ ------Na2[Fe(CN)5(NO)].

(A) GIFIT"l-tlJUl""JDL.G~IT""IFQ)Gu6lirrLITIFtlJGrnIToOoGuirG~L.(II)

(B) GIFIT"l-tlJUlGu6lirrLITIFtlJGrnIT""JDL.G~IT""IFQ)oOoGuirGIJL.(II)

(C) GIFIT"l-tlJUl""JDL.GIJIT""IFQ)Gu6lirrLITIFtlJGrnIToOoGuirGIJL.(III)

(D) GIFIT"l-tlJUlGu6lirrLITIFtlJGrnIT""JDL.GIJIT""IFQ)oOoGuirGIJL.(III)
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12. Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

13. Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.

IMPORTANT INSTRUCTIONS

1. The applicant will be supplied with Question Booklet 15minutes before commencement of the examination.
2. This Question Booklet contains 200 questions. Prior to. attempting to answer, the candidates are

requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

3. Answer all questions. All questions carry equal marks.
4. . You must write your Register Number in the space provided on the top right side of this page. Do not

write anything else on the Question Booklet.
5. An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers ..
6. You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space

provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission's notification.

7. Each question comprises (our responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark i~ your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each' question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

8. In the. Answer Sheet there are four circles 0 '@' @ and @ against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
. Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, @ 1S the correct answer, you have to mark as follows:. 0.@@

(
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